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1. Sketch the graph y =—x(x+ 4)(x —1) (x2 +2) 2. Write as the product of linear factors
X=0,-4, 2 bounce, v y=(x*-9Y(x"-4)
Y= (X-3¥(x+3)*(x*-2) (x3+2)
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3. Write the exact equation of the polynomial function

$Oxy= a(x+3) (X-3)(x-8) |
-2 = a(2)(-3)(-¥)

_ 1 (-4, a4
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ﬁ-( x)= '/alg (43 (x-3)(x-€)
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4. Write the exact equation of the polynomial function

) = (XE)(X-NOey) T
3=a(3)(-N(-4)
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5. Write a polynomial function in standard qr':mu%_
2 1  X*[1zx7])1x3]2
the given roots. x=-1,0,— 32 X [T2x3.

- [ x*

F0x)= (><+z)><(»<—3)<>< 3)3-4 ),

FO)= x (xD(EX-D)(UX-1)
= (x*+X) (12x*-)|x +2)

[500= lzx"+ #-ax+2x)

6. Write the polynomial function in standard form given
theroots x=3-2iandx=1. Also X= 3+42(

£ = (x-(3-2)) (X~ (X-1)
=(x-3+21)(X-3 ——2()(X—~l>

= (X6 X +13XX-1) 2
X >(°
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7. Divide x’+4x*—7x—10by x+1

- -7 =10

- L -L:l | —3 10
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XI+4x= X710 _ x* 43 % —IOJ
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8. Solve. x*—7x*+12=0
(X2-4Yx*=3) =0
X+2)(X-D(x*-3)=D

[x=-2, 2,2 3]

9. Determine all the roots of P(x)=x"+x’ —14x—48
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10. Determine all the roots of x* +6x* +10x*+6x+9=0
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11. Determine the degree, zeros and their multiplicity.
y=x"(x+2)’(x+1)
Degree: (5

12. Solve. log,(x)+log,(x+3)=1og,18

log, (x*+3x)=l0og; '8

X34 3><~18 T X5
Zeros: X = 0 X= -2 .X: - 2, —~ 8 — J
3 A n X%+ 3x~(8 = /
Multiplicity: 2 3 [ (x+6)(X-3)= O
. p* e a’zé‘ [o:r" 14. Find an exponential growth model (y =ab" +k)

13. Expand the logarithm.  log I Jem 3 ><3 whose graph passes through the points (1,120) and
h____ﬁ____,__ —_— (2, 168) and has the asymptote y =100 26
g Iog2+  log b -1093-3109X) I(i20)» 120=0.b "+ jop » 20=0-b>3°%

(2,168)> [68=a-b™+ 100 = L8=Q-
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15. Find the inverse of f(x)=~2x+5-7

(x+ = 2Y*5
(x+3)-5=2Y

[‘yi x+7)’ J

16. leena 85 b=13.2 and C=99°, solve the

mq;.‘?glzei E d%13.2 8.5~ 2(13, N3,5)cas99
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A+B+C = /80

(A=30.02"

17. Circle all of the followmg statements that apply to

the graph of F(x)=-3x(x-5)(x+2).
The degree is 6.

It has negative orientation.

(2 It has 6 distinct x-intercepts.

D. The range is all real numbers.

It passes through the origin.

(0, 2) is one of the roots.

6. Its inverse is a function.

H. The y~intercept is (0, -500).

18. Find the inverse: g(x)=3log (x+1)-2
X = logg(y+)’-2
X+2 = [0g, (y+)’

(5X+2\ +/)3

19. Use synthetic division to show that 3i is a zero of
g(x)=x"+4x* +9x+36

el 4 9 36
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20. Factor
a. 32)619—162x3y4

2 X° DQX
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b. 54x°-16y° Zx:”(Zx‘f 33)(f?x 433 .
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